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1 A consumer in equilibrium shows any change in his plan of expenditure, such change will
only reduce his

- (A) Marginal utility
7 Total utility
(C) Utility
(D) Satisfaction

paiGarflar i dsweald ggrausg LDWQ]QJGDQ ma&iGanflar soflae aarnd iSgmaw DTHHD
sjeufflen eThs LU L GDE&HELD

A) @ondfee vwerur®
(B) Quorgs uwenun®

(C) - symefl Lwemun(®

O Aoud

2 The Wage-Fund theory was enunciated by
(A)  Alfred Marshall :
(B) Henry George
(C) David Ricardo

\97 J.S. Mill

a@ad-Hf Caml e Geaugnd Agaieuns @S spuULLg?
(A) oyl wriragped

(B) GQamend gmigy

(C) Creil MasmGLnr

(D) J.S.blé

3. “Interest is simultaneously the reward for the pure yield of capital, of saving, for the
foregoing of liquidity and the supply of money". Who said this?

W Wicksell | (B) Marshall
(C) J.8.Mill (D) Keynes

el igenws 1pse whmbd Cadlinder g 2655806 @G CrrsHe amhsrasdnE Aardésuu@
Hirento QuBluyd wHHID Lewr SafluywTE. @ smen sadweui

(A)  Gur. efl&Cea - (B) oniraged
(C) J.S e (D) Eewen
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4. Equjlibrium condition for a priceless commodity, then the consumer gets
Price equal to zero

(B)  Price equal to one
(C)  Price greater than one
(D)  Price less than one

eflmaudider dunmarsemer psiGarfar suflama msiGeurt Qupeus
(A)  dewse swwors LpgRuID

(B) ellenawsg swwons e

©C) pomse sifsors e

(D) gonse @@pans dlae

5. Marginal rate of substitution can be expressed by
AY Y
MRS,y =— MRS, =—
\M XY =35 (B) e
Y AY
C MRS,y =— MRSy =—
(©) XY =y (D) Xy =%
Baodflaw LS () czsb @daany Osfclssomd
wrmb Y e Y s
(A) MRSy =—2 = (B) MRS,y = 2
wrpn X swe wrgn X see
Y siap wrmn Y sies
(C) MRSyy=—-—"7"T"-"TT— (D) MRSy =
X s X s
6. In which one of the following commodities, we derive consumer’s surplus’in our daily life?

Necessary Commodities
(B) Luxury Commodities
(C) Inferior Commodities
(D)  Superior Cqmmodities

HMb Sempm eumpsenauiler misiteay erésh QupLILEACDTD Siena Qe g
Q)  opPuradlu Qurmlser

B) s ibuy QU ser

(©)  wliwrer QurmLasdr

(D) o whreunen Qurgpser

MAE/18 1




7 & In which book Prof Hicks defines economic dynamics is an every quantity must be dated?

\M Value and capital

Capital and growth
(C) Das Capital
: (D) Trade cycles

Guy.aflsev ehs Hrelled @umEh Quimensmmd cerug @eublaur(m Sjerellanamnyd SeRrig LIS
GCaHul Gauam (b eremmy &afflujemarmir.

(A)  wHUL LHHID APOSSTLD

(B) epegebd wHHID eueriTEs]

(C) smavw CalbLed

D) euenfls spns

8. The market period is a very short period in which supply is

@ Fixed (B) Rotational
(C) Changed (D) Dependent
SIEETYE ST crarugl Bas Gnau srab G, Bésrosdd afliumeag —— AEGLD.
A) feewrearsg (B) spms@iug -
(C) wrmeug (D) anfreug

9. Satisfying power of a commodity is
Utility (B) Vulnerability

(C)  Ability (D) Resource

B5Ca g uam_sHan HHUAILESSID HpaELo
(A) uwwetur(® (B) ageuren
(C) Hpen _ (D) euembd
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10. Which of the following is not an assumption of the classical theory of employment?
(A)  Money wages and real wages are directly related
.Wages and prices are fixed
(C)  Full employment
(D) Perfect competition

&Gy QanBasiiu’_ Herer ar®Csmearsaiia geann Ggrenenn Couemaeumiiiny CamLim g e a(HCamer
DGV BT CTENGU CTE &HITERTS,

(A)  wewrr sacd WwHHID & ameno el Crygwins Qgrmfrumuug
(B)  sel wpmib eleraser Henaowimens

©)  wpuw Cauama Hlene

(D)  Henmey Gum_ig

11.  The government expenditure multiplier is

1 M » -8
(A) AC | AY——I_CAG

|

AS
AY -C 1
©) AT -1-C (D) LAC
- F—
AY
278 Heevey Aunsd eremug
) S L [
(A) I_T_C (B) AY _ﬁAG
AS
AY -C 1
© & 1T & e
+ —
AY

12.  Who propounded the concept of “principle of effective demand”?-

(A)  J.M. Keynes " Prof. Dillard
(C) David Ricardo (D) Hicks
‘eflenareyater Ggemeu Qanerens’ eremp &(hSes 2 (heunsdlwieur
(A)  JIM. Eamen (B) CGugm. geeri®
(C) CLeil AsmiCLrr (D) afléev
MAE/18 6 *




13. Which of the following is not related to macro economics?
(A) Total employment

(B) National Income

(D) Total savings

Spsarayid ganblé, Guflwe QuImaTTSTTSSILem QsrLiiyenLwg @eee
(A) Qorss Casemeeumiiy

(B) Csflw eugmeumi

(C) safipur Himeuend

(D) Qurgs Calliiy

14. In a two sector economy, the saving and investment functions are as follows
S=10+0.2y I=3+0.1y then what will be the equilibrium level of Income?
(A) 90 (B) 100 .

(C) 80 i \)w'm

@rieL Qummermgmysde, Gaflly LOHMID s @ smiyser Geeumesen S =10+0.2y
I =3+0.1y aumoner swblene él;ﬂ'a.l Hleney eremen?

A) 90 (B) 100

(C) 80 (D) 15

15.  IS-LM model has been formulate by

(A) P.A. Samulson \ (B) J.M. Keynes
\# JR. Hicks (D) F.Modigliance
IS-LM wréflenw o meursdweut
(A) P.A. smepCaucsen (B) J.M. &emev
(C) J.R. abléev (D) F. Qumgsdlenarenan
* 7 MAE/18
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16. Match List I with List IT and select the correct answer using the codes given below the lists :

List I List II
(a) Supply creates its own demand 1. J.B. Say
(b)  Choice reveals preference 2. Adam Smith .
(¢)  Division by labour is limited 3. Ricardo

by the extend of the market

(d) Corn in high not because 4. J.M. Keynes

rent is paid

(a) (b) (c) (d)

a
\9/1 1
(B)

2 3

1 4 3 %

€ 4 1 3 2
D) 4 1 2 3

Qan@asuuc Berer @rem® Ll g wdseT Aurmsdl sfiwrer eflen_erws Caitey Qsiis :

@fley I Qfley IT
(@) <efliy 2ig6n Comeauans e paursgdpg 1. Gg.9. Cs
(b) Qsfley engyfienw SefldaiuREng) 2. L bevhg
© spens efiflouen &y Qumugs 2 ey 3. MasmiCLmr
UGUY SLHUUGRSSLULREDE
@) sfsorer aummb Qegysssd 4. Cgerd. Senev

@ ® © @

A 1 4 2 3
B) 1 4 3 2
© 4 1 3 2
(D) 4 1 2 3
MAE/18 '8 *




17. Keynes recommended a public works programme in a depression to promote
Full employment
y Employment
(C) Unemployment
(D) All of the above
QumES. WHE STsHD, 2ATs AuTg: Lallsmar Gm\ﬁ)Gsnérm Couar(d eren Hema

uflpgienrssn
A) wu Camafion
(B) Geueneweumiiiy

() Ceueweullemeno

D) Cule o drer J@EGHID

18. Investment in the Keynesian sense means an addition to

M Real capital assets

Nominal assets
(C) Both (A) and (B) correct
(D)  Neither (A) nor (B)

awaS@ eranug Sanflan sapp Gs@OLL —— & (DB @G0

(A) oamenw ppagen Hensgisaen
B) GQuuwyere) Qendgéaer
(©) (A wpmbd (B) &fl

D) (A) seup (B) geum
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19. Whigh of the following is not included in the estimations of national income?
J Transfer payments (B) Rent
(C) Dividends (D) Interest

&Gy Qandasiiu_Herer eflen_sefld gam GCaélu eumeumis serédHeudd 2 aTaTL 85816 eumeug) .
Boma 28 ag?

(A wrpmé QsgussBlene (B)  eumgp

(C) umasrgmub (D) euly

20. [f the equation MV= PY , then V represents
(A) _ Value of money
Velocity of circulation of money
(C)  Variation in money

(D)  Supply of money

PO swaut_ige MV = PY aampré, V erang @lé@io
(A)  uewr Ay
(B) wewr spnéluien Ceustd

(©
(D)

uemrgSlen wrmLim@
uewr jafliiy

2T Value of money means

(A)

Gold purchased by money ;

\W General purchasing power of money

©
(D)

Importance of money
Demand for money

uemt iy eremigesr Quimmer

(A) - venssre eummid SRISD
B)  uampen Qungeuran aumiigtb Hper
©)  uvengen wsHuggeun
(D)  vews Csemeu
MAE/18 10




22.  In the money supply, the relative importance of cash component
(A) Goes up with economic development
W Goes down with economic development
(C) Remains unchanged with economic development
(D) None of the above |

uewr siefllde, Arréssden @uidy wpa&dusgid

(A) QLm@cmrgmy wpanGarpmid GG Csagiga

B) Qummemsny apenGarppid ECip sflge

(C) Qumermgmy qurcmﬁﬁmﬁﬂé) % THDAPLD G
(D) Gl o drer SMenSHID Seum

23.  If PT = MV in the short run price behaviour, then
(A) P varies inversely with M
(B) T remains unchanged
Short run change in V be predicted
(D) There is no change in interest rates

swearLn® PT = MV gpdwu sre e flooaw dasgugns QararGamd. QLU uTamme iger
Gaeneu

(A) M eLenP afivepuns Caupu®dge

(B) T wrHpb @deme

(©) Vsafssiu@wdumigs Gnéu stagdea wrmw

(D). el AégsHe wrHpw Gome

24.  The relationship between value of money and the price level is

(A) Direct related (B) Indirect related
w Inverse related (D) None of the above
uarsSlen LHLLEEW wHHD e Hawseh oL Gw o-drer Qgmiy y
(A) Cprwenp 2pay : (B) wepups 2 pey
(C) eafHiwep 2mey (D) CuwCe o drar ergya|b @eame
L 4 11 ; MAE/18

[Turn over




25.  Which function is stressed by the traditional and Keynesian thinking in money supply?
(A) Store of value

(C) Transfer payments
(D)  All of the above

ver afluy Camumige, wiy QurGeluafleiss wpmb Sadflar Lnima g uaflen
pé&Ewid eran cuelluymisduig?

(A)  wfuy Caflssy masse
(B) Qogizg pGFmw.

€)  ufiorpy Qegissb Hlae
D)  CunCsrearan smansgin

26.  The terms of Money, Interest and prices — were explained by

(A) Keynes M Don Patinkin
(C) Pigou . (D) Robertson

UemTD, eullly Lopmid eflenevser, ereémp samenm eflarédlweurt
(A)  Senav C B)  Lnaruniigenden
(O A (D) @oruisen

27.  “Attempting to define full employment means raising many peoples blood pressure”-Who

said this?
W Prof. W.W. Hart (B) Keynes
(C) Fisher (D) Pigou

" Cauwa flape” - adaugmar uarupuuspaTear pupflunerg. ue puiseier @Qrss
SNWEsss flsfsss Aaidpg @) sampen sdieui wri?

(A) W.Wapi (B) &emav
(C©)  Gegi D) A@
MAE/18 ) 12 @




28. The number of times a unit of money exchange hands during a unit period of time is known

as

\/ Velocity of circulation of money

(B)  Value of circulation of money
(C)  Power of circulation of money

(D) Count of circulation of money

S VG STVELEHD, PH SNEGE LWID, THHDET PDD @STHDHLD QriwtupHpCer Siems
GrammenLpUILIT

(A)  uewr sppélufen Causd

B) uenr spHAuder L

(C) uewr spplulflen 558

(D) uen sppéluden cramTemil&Hens

99.  Which committee on the financial system recommended the government for major changes

concerning the Cash Reserve Ratio in the year 1991?

% Narasimham Committee

Chakravarty Committee
(C) Rangarajan Committee

(D) Tandon Committee

1991 @b syemqd vew Maites alflssla WpEHL IHPRSEHES abS G STETRSSSHDE
ufipgieny Qsss!

(A) mrélband G

B) sbrauisd 6W

(€) rhsyTRe G

(D)  Lmeim_en G

% 13 MAE/18
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30. Which organisation was established in the Uruguay round?
WTO (B) IBRD
(C) WHO (D) SDR

2 (GG UUBSSHE paid aThs Lsmenm () Hmeuend Qam_msiulLg?
(A) zas UTHSS BjMDOLIL B) owseumd

© 2sas sangmy Bmeuend (D)  Apuyediy 2 Mewo

31.  The exchange rate is determined by

(A) SDR
(B) IMF
(C) WTO

W Demand and supply -

wrpmn eissms Sioraflliug
(A)  fpiy ey o-Mesw
(B)  wemenm B uewr HAwid
©C ocas UTHSE SienoLiLy
D)  Cpmauyb wiafliiyb

32.  Which of the fallowing VS secretary of the treasury propdsed measures for debt reduction of
Less Developed Countries (LDLs) in the year 1989?

(A) James Baker (B) Roberts Vance
\V Nicholas Brady (D) Henry A

Genaumid 2Quwiés smayoser Aauemrariaaie wr 1989—g GonHs uatisfluenL_bg HrHsefien
SLGT SO GDDES BLeuisens CopAsneam g?

(A) Cguev Cussi (B) grurev sumreren
(C)  PéCara Gymg (D) Qaperd A
MAE/18 ' 14 @




33.  Excess of value of Exports over the value of imports
W balance of trade
(B) balance of payment
(C) balance of asset

(D) balance of enquiry

@pa@wdulden i el gpmiwduden iy D femLden Big —— WGED-
(A) aisss sy

(B) Gesgssns sl

(C) Qsngg eaulmmiy

(D) eflamyenent enasudlmLi

34. International Monetary Fund does not give ———— for development.
(A) cash \V loans
(C) investment (D) advice

werCanprsHnsts, Lenem () Hf Gemarmuid @ senen cuPBISTS)
(A)  wewrd (B) sLen
C) wss® (D) =Carsemen

35. Disequilibrium in the balance of payments position tends to have
(A) favourable economic consequences
" adverse economic consequences
(C) stagnation in the economy

(D) increases employment

Qegusgisean swflaeuie sosgeublaemn —— ghuSsEDS.
(A) sngswrer QUITEHETTSTY eflenereyser

B) unmssworer AurGETSTY cllaneTeyseaT

(©) Qurmemsnyse GCaés Hlana

(D) Caeme amiiy sHsissgd Haw

L 2 . 15 MAE/18
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36. In which year, the European Economic Community (EEC) was signed in Rome?

(A) 1937 (B) 1947

G 1957 ' : D) 1967

gCrrotlw Qunsemngny sapsid (EEC) Cymb may PUUBSSED wsQUTILD e aumHLLD oTg)?
(A) 1937 (B) 1947
(C) 1957 (D) 1967

37. Name the market established by six countries in_EEC (European Economic Community)
(A)  Individual Market

\V Common Market

(C) World Market
(D) U.N. Market

Crmudw Qurermgmy prEsafie (EEC) oy sr@ser Ceiibg) LHWSTS 2 MHeurssiiL L Sikismg
A) sefipuir siksmg.

B)  Qurg simsmyg

O oosmstg

D)  gpsdlu pr@ser DI

38.  Ricardo theory the Doctrine of comparative costs in labour

@7 Mobile (B) Immobile

(C) Stagnation (D) Less stagnation

fisamiCGLreflen @uiS () Gswey Cam_um’ e 2 enpliumart
A) @uib Quuitge _ (B) @b Quwyrenn

©€C) Hoewnrs D) Gopbs Heowwns

MAE/18 ' 16




39.  Which country did Heckscher — Ohlin belong to?
(A) - UK (B) USA

(C) France \M Sweden

Qansegi — ganedlen erps priem Caibgeu?
(4 UK (B) USA
©) Ggrens (D)  seflen

40. Mahalanobis gave top priority to the rapid growth by
M Industrial Sector
(B) Service Sector
(C) Agriculture Sector
(D) Business Sector

| wanaGpmiey elampaurar aeniéféd iHupsiubgioud uBIEW Fen
@) Gsmfpgep
B) uafiggeop
(C) Ceuamnarrgienm
D) aafssgon

41. Who won the Nobel Prize for the Rational Expectations theory in 1955?
\M Robert Lucas
Amartya Sen
(C) Keynes
(D) Milton Friedman

uEssHey eriumiiy Cam_um_ Bsmer Gprud ufls 1955 b e[ WI(HEE eupRSULILLS?
(A)  gmurl gr&me

(B) swisHur Gser

(C) &enmehv

(D) Beren S _GQuwen

L 4 17 MAE/18
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42. R.F. Harrod's “Towards a Dynamic Economics” Published in

(A) 1948 (B) 1959

() 1969 M 1949

R.F. gonGym “gm Quiaghoe Qurmensmn Cerad” aenp v Qeuefluli’ L syam@

(A) 1948 (B) 1959
(C) 1969 (D) 1949

43.. Who said, “The boom has in its seeds of depression”?

\(y Schumpeter (B) Keynes
(C) Samuelson (D) Friedman

Wi bleowsster elagad Ly Hawuld nsCs AupLLEADg erar sadlweui wiri?
(A)  soOSC L (B) &anev
(©)  snpGeudvaen . (D) Of Cuwen

44.  “Socially necessary labour” means

M qualified labour

(B) disqualified labour
(C)  countable labour

(D)  uncountable labour

spasdlen sipHuneufluinner o epliLime eramugen Quimmer
(A  sEH anips ampuunmﬁ.

B)  seHuDD 2 @wlurent

C) canaflsms 2 enpuiLiment

D) earafismswuny 2 enpuILimenit

MAE/18 18




45. According to Schumpeter, innovations are introduced by the

(A) Labourers

(B) Scientists

y Entrepreneurs

(D) Technicians

SOSLLT sppiug., sar@y s Smaggid GarsamGatu siflopsorns
(A) eeylurerisar

B) sfelwe ibEsiadr

(C) Qsmfle wpenenGeurirger

(D) QgnfemusilwerraiseT

46. What is canon of equity in Taxation?
(A) Taxes should be collected at minimum cost to the government
(B) Taxes should be levied convenient for the tax payer
(C) Taxes which an individual has to pay
M Taxes should pay according their ability

swsge eufl S eremug) eremen?
(A) 25 G@DDHS see Aseild eufl ugediuug
B) el QegussCaunmée ausdwuns aufl @muLg
(C) safipureufl Qegusgieug |

D) el seurai s&8 Capu sssieug)

L 19 MAE/18 -
[Turn over




47.  Mercantilists realised that an increase in employment would result in increased

(A) aggregate production

M aggregate consumption

", (C) aggregate savings

(D) aggregate investment

meﬂfi&mnﬂsc’n 2iflHs anc&url;gg wrGgefle Caume oidlsflaen Curg odswns elleenyb pigay
(A)  fyer gunfliy

B) e psiey

(©) Ayar Caliuy

M) Ayer apseS®

48. = ‘Natural order is merely the physical constitution which God himself has given the
universe’. These are the words of

\Muesnay

(B) Turgot
(C) Thomas Mun
(D)  Antonio Serra

—

‘Quiers @upiE AeupwCen sLeyer ArLgh s CsTRsHmasn oL S@ULgTe — @eneu
WIT(HEnL_\ SapHmi?

(A) - syevaf

(B) Lism_

(C)  smoav apen

D) e nefCur Qsigr

MAE/18 ' 20 *




49.  One of the main indicators of development is
(A) Gross income -
(B) Marginal income

(C) Average income

waGanpnsms rHuedisEn ue A smyelsEyE ——— @EIPTEID
(A) Qrss eumeumyb

B) Quoifee awamy

(C)  symaf euheumi

(D) s eumHeumL

50. What is the root cause for scarcity of capital?
(A) Low population rate
(B) Low capital formation rate

M Low savings rate

(D) Low consumption rate

p@saIILDDTEG®DESTET (&L STERTLD Gremen?
(A) @oDhHS wEsaEsT®S D

(B) @®nnhs apegen Qm_ﬁ cllflgn

C) Gonbhs Cabli &z

D)  @opbs psiTe Hasd

51. Who advocated a vital role of entrepreneurs in his theory of growth?
(A) Joseph John (B) Joseph. B. Say
(C) Milton Friedman \M Joseph A. Schumpeter

‘quaiiad) Camun® — ererp Gredle AgmfloapmenGauntien wEHUSGSDS TOSSIMTSHEUT LIMT?
(A) Cgrau gren (B) Ggrau. 9. Gs
(©) érer GeayBGoen (D) GCgrsu .S
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52.  The killing of nutrient enriching bacteria of the soil is a drawback of
(A)  Yellow revolution
(B)  White revolution

Blue revolution

M Green revolution

weamaaTEms SFHEUUGSSID Henenn BOW urseflunssmer Csrdeug — S5

Slenemen_sum@o.

(A)  werser Yy Auflen
(B) Qeuamenwo yy_Sullen
©) oy Hulen

(D)  usewo Yy Hulen

53. What is the prime aim of the National Land Records Modernisation programme?
(A)  deleting and adding
M updating and digitalising
(C)  drawing and mapping

(D)  computerising and modernising

Coflw flo yeuem pelanowiorssd S gdlen sevarwmu Crrésib erenan?
A sufss6 wpmb Caigs

(B) ufHCeupmib LOHmILD 5awﬂetﬂw;umrrisasd>

©) aepsa LOHMID CUENTLIL LDT&S60

D) safaflvworssda WLHmID HeSemowiorssd
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54. The main objectives of Land-reform is

\M Family farm ownership

(B)  Social farm ownership
(C)  Public farm ownership

(D) Capitalistic farm ownership

flo SidmsssHean Qygren Gprésoneang ——— AGELD.
(A)  EOLU Ho/uaTamenr 2 flamw

(B) FHPS e 2_flenio

(C) . =urs e 2 fenwo

D) pseraisge flo 2 famw

55. Shortage of Entrepreneurial ability, and Scarcity of Skill are the obstacles to
\/;conomic development
(B) Political development
(C)  Cultural development

(D) Environmental development

Qamflér apereareySmern LDOTEEGD whgd Sperndle LDPIEGHD —— &E SOLWINS

2_6eng).

(A)  Qummpermgmy wpenGanpmD
B) erflwe aperGanHpid

(C) sersry perGarhmd

D) sppEGws wpatGammpd
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56.  The Fifth Plan (1974 — 1979) had problem from the very begmmng because of
Emergency was clamped
(B)  Over inflation
(C)  Over deflation
(D)  Urgency was forced

ZpToUD upsGe, ghgream® S wreng (1974 - 1979) Qréseanser fleoppssraCes @ mbss — aen
eraflay

(A)  eusy e GysLentd
(B) o wiuemelissind
(C) e wiruemraur_Lib

D) seusysre Brupsn

57.  InIndia ‘A Plan of Economic development’ was popularly known as the
(A) _ Bharath plan (B) Delhi plan
Bombay plan < (D) Nation's plan

@pdwureller, Qummermgmy mecarmmpﬂmasnm em Hiod fpliurer wepuld GUuigwib

DADPESLILLL )
A  umsHn (B) QLo Hiid
©) ubumd HLib (D) CsélwH L

58. When growth of population declines, it would increase
(A) Total income

(B) Average income &l 2
(C)  Public income

W Percapita income

wéaeT Asrens AUBEGUE Gopwb Curg g Gsmen <iflafsss Qaldng
(A) Qurgs aumeumis

(B)  sgmef eugmeumis

(C) Gungggmm Qu(THeULL

D)  seafpui aumeumi
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59.

60.

61.

Which town was recommended by the Central government to manufacture technical

;V Coimbatore (B) Madurai
(C) Salem (D) Trichy

WS 7E SO PET 4@ Asmfa BeEmiEss seflsdr 2 PUSHES uflbgenysgeTer H&TLD
(A) CasmubyssnT (B) wgeny
(C) Gsaw D) BHmss

Which rank did Tamilnadu secures in the ‘ease of doing business’ ranking in the Business
Reforms Action Plan 2017 list released by Department of Industrial Policy and Promotion

(DIPP)? |
(a) 22¢ (B) 19*
©) 18 15

Qsmfp Qsrarens wHpD CubuM- (S geopwrd Qesefllli LUl isss ETdhSs bl smEs
Highen &ip 2017 b yewmg.em aiggspms aagnsgeude sOPHNH sdeo @pHu g7 euflas
Ul igwelle @eueiiL e 2 crerg?

A 227 By 19™

€ 18" D) 15™

In which district, the Nagarjuna Oil Corporation Ltd, a joint venture of TIDCO is located?

(A) Chennai

(B) Kancheepuram
Cuddalore

(D) Madurai

L Careflen &l () @UUBSLTET, pramiggoann e sriLGrager SBALL apg wreuLSH

o ereng)?

(A) = Qeenenen
(B) smEpdlymbd
(C) &Lgni

(D) wg®y
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62. Which one of the following is not listed in the Central list announced in the Industrial Policy
Resolution, 19487

(A) Civil aviation
(B) Railways

(C) Arms and Ammunition

M Medicines

Slenaumeuareupfles gemmy, Asmfliogieny Qanerens Sioremb 19486 SiflefléaliucL. wiHw
U iguwiedled i gwiell G efldens

(A) 2w’ @ eflwrer Curs@arss

(B)  puSeGeu .
©) pyshisdr whmn Qeug QuirgmL_ser s
D)  wEpsseT

63.  Which of the following is the initiative undertaken by the government for the promotion and
development of MSMEs in the year 2015?
\/:IDAM (Udyog Aadhar Memorandum)
(B) PMEGP (Prime Minister's Employment Generation Programme)

(C) CGTMSE (Credit Guarantee Trust fund for Micro and Small Enterprises)
(D)  CLCSS (Credit linked Capital Subsidy Scheme)

2015 b syamgd MSME wWener cas@GelluLsSHE@ WwHHD Gmmum@mn& STEMRIBSSTE
CpQsmareriiu L apwiié Slemeumeueeum e erg)? ;

(A  UAM (2. 5Cunsé 5t QuGuryear_ib)

(B) PMEGP (Gyzw widflufer Ceuena eumiiyg L ib)
(C) CGTMSE (@p wihmpid fp Qsmfler Ameuenseyésan sLén 2 5STUNS SDESELL_enar)
(D) CLCSS (s_én @eamssiiuc gpagean wreflwib Hi L ib)
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64. When was the ordnance factory in Tiruchirapalli started?
(A) 1950 1966
(C) 1947 (D) 1977

Smedymiuerefludier 2 erer uisliuemL dgmfipsrane eriCurgy Qgm_midluig?
(A) 1950 (B) 1966
(C) 1947 D) 1977

65. How many co-operative sugar mills are existing in Tamilnadu?
(A) 42 (B) 43

© 2 N gl

SEPHI g6 THSman sal_HDEY FTESDY DY ENEET 2_CTETEN ?
(A) 42 (B) 43
(©) 26 (D) 16

66. The process of ownership from public to private is known as
(A) Nationalisation (B) Globalisation
\9’ Privatisation (D) Liberalisation

Qurgs sipuidmbg saflurt Swpée wrmid Hlenew
(A) . Cafluwwwrése y (B) o eswwLTEs

(C) seflurnowwrésd (D) smymemOWIT&ESED

67. In which year, the Micro, Small and Medium Entegprises Act (MSME Act) was enacted?

A) 1991 2006
(C) 2008 (D) 1988

aTib ey &, pemantiv, Ap wHmD FOS5T Hoeuaniser s b (MSME Act) @ubniuLg?
(A) 1991 - (B) 2006
(C) 2008 (D) 1988

27 ‘ MAE/18
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68.  Statjpaical data arranged according to the time comes unider
whronological classification

(B)  geographical classification
(C) qualitative classification
(D)  quantitative classification

Blapey arasdar =gl afl@siu@ssouc L yarefl efluy aumstur® — &
uUHEDE!. '

(A)  sregpeap auensLILIT_ig.6i

B) yeluQwe SUENSLILITL g 6T

C) sy ey QUENSLILIML I &t

M)  umw sarey s g6

69. The word statistics mean
(/ numerical state.ment
(B)  verbal statement
(C) symbol statement
(D) digital statement

yenaflulwe ergyd aumiigengullen Quimmer
(A) erawmrseTed 2 S50

B)  awss/Qunfure 2 erssa

©) Sy 2 ampssn

D) senflafl il o apsse

70.  “Unarranged data are as dead as mutton” — Who told this?
(A) R.L. Cannor (B) T.A. Boulder
(C) J.M. Keynes m .R. Hicks

“auflesiu@ssiiuT g yarefl efleupiiser Bmis @eneélée swib” — erem SmE®SE saBlieurt Wi

(A)  yir.erer. Caanmir (B) g.er. Gurai
(C) Cg.enb. Semad (D) Cg.yi. abléen
MAE/18 28




71. A pie-diagram has several sub-divisions in a ———— form.

(A) square ) (B) rectangle
y circular (D) oval shape
aulL eflenésiiLiLiomeng), —— auigeild udCGeauy 2 L s psmaTs Qsra_sTs @) mEELD.
(A)  sgimoner (B) Qacucusonar
€ wliorer (D) fereut Linar

79. A single value that reflects value of all the data’s is called

\M average

(B) arithmetic mean

(C) median

(D) mode

Smansg Lerafl allugiisefien wliemub Qrdusiaden @b LHUGL ————— PGB,
(A)  aynafl

(B) &al_ (& syne

(C) @eLflove

@)  o»s6

L-S _45-13_32 ,
L+S 45+13 58

(A) 0.77 (B) 0.66

\y 0.55 (D) 0.44

73. Coefficient of range =

L-S _45-13 32
9
S55408W= T =15 13 68

A) 0.77 . (B) 0.66
(C) 0.55 (D) 0.44

29 MAE/18
[Turn over




74. Which is not an important function of statistics?
Orientation
(B) Presentation
(C)  Simplification
(D)  Facilitation

Spsaam_cunmer ergy Larefludween R WPSEW s Sjew?
@) SppOuEsssD

(B)  efleuy eflerasoaflsme

©) eeaflawiu@sssea

D)  easd Qaige

75.  Which average is affected most by extreme observations?
(A) Mode (B) Median
\V Geometric mean (D) Harmonic mean

sanL Pl enenypliysarme s SFlswras urdssi L@ syraf eTg?
A ws® (B) wsdu sierey
(©)  Quewée syrafl (D) @QesleL symsf

76. Coefficient of variation is calculated by the formula

@ X100 ®)

.

(© 1000 N

x100

Mo a |

Crimompe Qe searsd g UweTUHSsULIBD @sHTbd

(A) . 100 (B) =4
o (e
0 Zx100 =
© e 0 (D) o 100
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77.  Average is an attempt to find one single figure to describe of figures.

(A) two fold (B) three fold

\V whole (D) part

cramaenenyb elleTd@Geugsn @, fDeD craTenr sa_Hlaugparen apueGeu symaf] HHELD.
(A) B womg (B) (@plboL_riiS
© ow D) ued

78.  Expand MSECDP
(A) Micro and Small Electricity Corporation Development Programme

(B) Micro and Small Enterprises Corporation
\V Micro and Small Enterprises Cluster Development Programme
(D) Micro and Small Scale Industries

MSECDP-an eflfleunésin

(A) meraiu wpmb Hy Hpeerhse By eurflu auariélg S o
(B) mewmeniu wHOD Sy Hlmicu s @hsase aumflwd

(C) mewesfiw ppb Sy Apeuahser AsrEUL auenii&fls S b

D) mewefiu wHpid Ap HpeueThsd

(C) finite population
(D) infinite population

e yerefl efleury eflsmyenetulics Simans QuTLasEsD elsmyearuien TOMEGET G HHSTED SiF!

(A) Guresrb

B) apyelar pyows ASTEH
©) s

D) e p@®wsAsTEH

MAE/18
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80. ———isa preferred sampling method, when the size of population is finite.

Tippet's table of random numbers

\M Lottery method

(C)  Cluster sampling

(D) Stratified sampling

- Wésa grens Sietey pigeyeTansTs Bmégwmllar ——— worHif wpeop Cgeney.
(A guul e eumiiliy ereRmaeT B auenewT
B)  aisssd op
(©  Ager wrdf

D) uPes wrff

81.  The main problem of Textile Industry is
(A)  Cost of production
(B)  Technology

M Availability of raw materials is less
(D) Capital

e Agmfelen Bls pédwioner Grssener
A) 2pusd dleva

(B) Gsmfé mub

©)  weuQurm _saiedn Sl Liumentn

D)  wposend
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Who is the Father of Statistics in India?
M P.C. Mahalanobis

J.C. Kumarappa

(C) C. Rajagopalachari

(D) V.K.R.V. Rao

@pdureflen Leraflubiwellen gHeng wmi?
(A) 9.8, vapaCrmlev

B) Ggé. @wrnhun

(C) & @rmgCarunassl

(D)  6.Cs.ayi.ehl. e

Ethical values
(B) © Money value
(C) Commodity value
(D) Real value

yples of Gandhian Economics is based on

b Qsnaransuden gL uie Sl Ourr@emrgrrfnb qud)u@&lmg?

(A)  @ussb srips Qplsdr
(B) uemmndliy

(C) Qummer iy

(D) o awmento iy

How many countries are members of the International Monetary Fund (IMF) is on 20187

(4 110 189
(C) 120 D) 125

Lerenm( uest HHwsHDEG BHCUTE 2 HUY BrHsET 2018 ug THHemEn?
A 110 (B) 189
(©) 120 (D) 125
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85.  According to ————— the term taxable capacity refers to the sacrifice the community is
able to sustain.

(A)  Prof. Colins Clark (B) _Sir Josiah Stamp
(C)  Prof. Shirras Prof. Musgrave

e sampplivg, afléE elul Hper enLg) sapsssTe Hwrsh Gelwissaigw

SeTeney Ghladlmg).
(A)  CGuordflwi srederen Hermis * (B) enr Cggraw evL_mbly
©)  CGuor&fwri efymen (D) Cuprdfwr wevdCreu

86.  The main weakness of the Fisher's quantity theory of money is
(A)  Prices neglects
W Rate of Interest neglects
(C)  Both (A) and (B)
(D)  Neither (A) nor (B)

Gegflen Liewr syeray Gam_Lim igen apédlurer LaeSIons e sHgieus)
(A) efeeasmen Upésanflsge

B) ey dfssms Lpssafissdn

©) (A wpgd (B) @rem@io

D)  Ayo @aoama (B) B

87. . The Central Bank increase the money supply, is
(A)  Low in prices and wages
Equal rise in prices and wages
(C)  Constant prices and wages
(D) Constant prices

e euid) e iefllieu siflssenb@unigs

(A)  elenassr wHmD snellaer GdDey

B)  dlevaadr wHmb saellser swions SiflsflEEn
©C) dleesdr whpib selsdr Hawwrs Bmé@ b
D) Hevewner eflemasdr
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88. “More capital and less Labour” — What is the concept of this technology?

(A) Labour intensive technology

V Capital intensive technology . .

Water intensive technology

(D) Chemical intensive technology

“oifls epsaid, Gonps ey’ @bs shsie Apmfle pILusHear Auwi
(A) eeapuysQabley Agmflop b

B) epegas Qsfley AsmflemLibd

(C) fir Gadley AgmlédmLibd

D) @rsrwar Aedley AgmflemiLib

When the actual frequency of the attributes ‘A’ and ‘B’ is equal to the expected frequency,

then the attributes are said to be

NM Independent

(B) Positively associated
(C) Negatively associated

(D) No association

@rew® uvemyseflan ‘A’ wpmbd B e ewmewwiren smaeaar Seupbler ediumiiy

Sie@eusirgyL e sowns Gmaewrudern, seupblear Agm_iy B mEGLD.
@) sgpgnons

(B) Cpmoenp Ggm_iiy

(C) erFiwenm @A mity

(D) empp Qsriyb Gaoma
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90.  Consider the following statements

1. During the period 1960-61 to 2010-11 the food grain production in India grew at a
compound annual growth rate of around 2%.

Food grain production rose from 50 million tonnes during 1* Five year plan to
290 million tonnes at the end of the 11* Five year plan.

yh statements is/are correct?

Only 1
(B) Only2
(C) 1 and 2

(D)  Neither 1 nor 2

Epsan ansflutismer smaHd Qamdrs.

1. 1960-61 apged 2010-11 euenuerar srsdad GBS 2 ey sraflu 2 DusHuireng swameu
() cuerisd ellflgons 2% sHil SiemLohs eTeng).

2. pgamd gisran® srasded 50 Wodluer Lear o8 Qmbs 2 ey sraflu 2 puss 1leaug
BpgTen® S @nSifler 290 Bhalwuedn Ler 25 2 Wibss).

@emeusatie erg)/eraneu &7

(A) 1wl@d
(B) 2wi@wb
©€) 1wppwn?2

D) 1o Qe 2 Revene

91.  Productivity in agriculture is mainly dependent on this factor
Technological factor
(B)  Geographical factor
(C)  Political factor
(D) Chemical factor

Cauarmerrenio 2 pLgdl @ésmanflenw Qysrenors FTTHGIETaTS)
A) Gsmflemiu sryef

B) yelulwe sryenf

C)  wrdwe sryenf

(D) @usmuenr snyes
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The Break-even analysis is a study of
(A) Costs and Revgnues

(B) Salesof a firm

(C) Costs

‘M Cost and Revenues and sales of a firm

(A) Gseeyser LHMID 6uHETLISET
B) Pyeuagden ellHuemen
(C) Qeevayser

D) Qeea) whmb eumeurisdr, Hneuargden eflhuemar

The possible measures of national income are

(A) Total stock, Net interest, Net output

M Net oufputs, Total income flow, Final expenditure
(C) Total output, Net income, Net investments

(D) Net outpuf, Net investment, Net income

BTl 6 euBLOTEIEMS ereilL LweruBeug)

(A)  Gurss @muy, Py ey, sy Huss

B) Hasyepusd, Gorss auboreand @ﬁ.u.ﬁ. Qné psiey
(C) Qurss e pusd, Hareumwrend, sy a6

D) Hayepusd, Har pss@. ey aiporeand

37

sl yerafl apdley UGSSTLIeY : o < midng).
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94.  The full employment and the movement of the economy beyond full employment is

characterised as ————— period.
2

(A) Critical

(B) Depression

4/ Boom

(D)  Recovery

Henp Cauenar Hlanaw pmid Hlenp Couened grewngw Aum@marigmy ssﬁaﬁl;b@ sredflay

eremm Qamemaramib.

(A) s Guorswren

B)  wpsHoe

(O Qurmemgmy Q&(penio
D) BLQLpsd

95.  The relationship between population and food supply was discussed by
(A) J.B. Say
(B) J.M. Keynes

.@/ T.R. Malthus

(D) D. Ricardo

W&&6T Agmens HYID 2 e afliiLse G w@orear Agm_mSenen Qeuit eleundgsmi
(A) Cg.9.Gs

(B) Cg.erd. Sameny

©) gy wroge

(D) g AssmiCLmr

MAE/18 38




96. Both national and international trade takes place in the difference between

(A) Cost and benefit

(B) Income and expenditure

(D) Input and output

Be0G
(A) QeweywHmib vwerurh
(B) eumeumi pmid Gsweay

(C) Qeweysdr wHmbd elasear

(D) edaf® wppb Qauaflli®

97. Domestic means

J Own country

(B) Abroad
(C) Region
(D) State

9_'sir;5rr® eremugen @ummHeT
(A) QsrpgETH
(B) Qeuefipr(®
(C) QorpHuid

(D) wmfled

39

@eL@erer Caugum_igCaGuw, Gsélw wHpib LT () QITSSSLD peoLQunSns)
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98. Under pure competition, the average revenue curve is a

M horizontal straight line

(B)  vertical line
(C)  sloping downward
(D)  sloping upward

g Gumigufled, sgmef eumeumis Gan®
A uBsews CrrGan@aear

(B) Qesusssg Car@®

@)  &Cyp aumenpgisQsdgid

D)  CuCe eumarpgé Glacgyid

99.  Sarkaria commission is related to
(A)  Foreign affairs
@) _ Financial planning

M Center-State relation

(D)  Entry-Tax

sisrfwur sllager @CsTH QAsm_iyen g
(A)  Qauelipm @ Qgr_iyser

B) P A LApse

©)  wgdu-wrfle o peyser

D)  menpey aufl

100.  Who introduced the concept of elasticity in economics?
(A) J.M. Keynes

S Alfred Marshall

(C) Adam Smith
(D) Hicks

QumrmerngmysHe Qpdlpss e smpHeoen siflapsind Asiigeur wri?
(A)  Ggg.enb. Seeiv
(B) oy wmiage
©€) =y ibavds

D)  afisew
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101. Static Economics possesses an introductory pedagogic value stated by
(A) Marshall
(B) Hicks
Zuethen
(D) Schumpeter

@urisst Aurmerngmyid Siflaps Curss wHleen QupmyETETE) ETEIY WITTTE SaHUILILL &7

(A) onfrage
B)  ablsew
©) Gusda
(D) &S

102. Who worked and brought out “The Theory of Monopolistic Competition”?
(A)  Joan Robinson ’
(B) Prof. A.C. Pigou
J# Prof. EH. Chamberlin
(D) Sraffa

Heop@mp Cum . Car_ur’ e aws QeuefluliL_g wmi?
(A) Ggren qmiensen

(B) Gun.AC.A9s

(C) Gup. E.H. smbQuiteiien

D) - evgmaum

103. Under perfect competition, MR and AR curves reflects

(A) MR>AR
\pf MR = AR
(C) MR<AR
(D) MR = AR

Aeopey Cur_iguie GniPBlene eugmeumis Ganr®w whmb syraf eumeumi CamHID Qrduediuy
A oo anauri dsfsgd syraf aumauraw el

B) @ndfae ameumisE Fowrs el aumeunis @HEED

© @odfeoe amaunl Gopbg smefl mauramuw AL @mEEWw

D) @udfee amauni syrsfl cuEpeaml SOLHDSTES AméEEW0
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104. Who defined the law of diminishing returns in a logical and scientific basis of the law?

(A) Adam Smith (B) Ricardo
(C) Malthus W Marshall

Gonhs s efleearey eflflow Humuorsen wimb siHefud yiauwrsed @ns oNfés
Qo&semd shseui wmi? |

(A) @b audls (B) MasmiGm

(C) wragev (D)  wrirage

105. Unavoidable cost and uncontrollable cost is also known as

(A)  Future cost

M Sunk cost

(C) Money cost
(D) Real cost

sellliés (g wng Qeewey LHMID S_OUUESS Wy wng Qewey @eeumy sflweond
(A) afisre Qsway

®B) b sy

(C) uvews Qsaey

D) o awewsQsaey

106. According to Marshall Economies is a study of on man and

\M Welfare (B) Wealth
(C) Scare (D) Money
wriragedlen sapmIILIG. QUTmmeTTSTID erenLg waflgemenub wHmD
(A) peven (B) Qseeuid
©)  upprsEep D)  vewnd
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107. Production function is mathematically expressed in the equation Q=fXK, L 10).Q stands
for '

(A) Quantity of input

y Quantity of output
(C) Quantity of raw materials
(D) Quantity of Labour

Q =f (K, L, I, O) eranp sexflp swanuim_igen apeld 2 HusH Gewapamp QasefLiu®&sLLBEDS.
Q -eranugen Gummer

(A) o drefl () SieTey

(B) Geueflil{ =emey
(©) @quun@uﬁaﬂéﬂ 2|eTay
(D) ta_mg)uurrmfmaﬂén 2ieTey

108. The key position in the study of Economics was
Wealth (B) Material
(C) Money (D) Labour

Quipalume gpiey Gslaude s i GLsHe Qg 2 ez
(A) GQsoeud (B) omss Qunmerser

(C) wewrd (D) eenpuLITaTT

109. If APC > MPC at all levels of Income, It follows that
(A) APC+APS>1
(B) MPS < APS at all levels of Income
(C) MPS=APS at all levels of Income
\J# MPS > APS at all levels of Income

Simandg eumeumi Hleeuiigid Qodfow psTey HTLEDS sm_g@id srefl Hmsfey BHILLD
sifswrs @ mUder

(A) APC+APS>1

(B) MPS < APS si@engg aumeumis Flened
(©) MPS = APS simenpg aueuris flee
(D) MPS > APS sieanggl aumeumis fleve
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110.  Super multiplier explains
(A)  Capital output ratio
(B)  Budget multiplier
W Interaction of the multiplier and the accelerator
(D)  Reciprocal of the Marginal propensity to consume
Apuiy Qumsd efarsan wimg;
(A)  wosea 2 Huss elldsib
(B)  eaune Qswey Al Qumsd
©)  Qumsd wpmb pHaESuGen Qram®Len Qmeanga
D)  afivep Qudfow BISTey B ib

111.  If the consumption function is given by C =20 + %Y » then the value of multiplier will be

4) 20 (B)
M 4 (D)

msrey smimy C =20 + %Y e QarRésiin (Hereng. Siuugurenmed Aumsdufen i ereren

O | =

A 20 (B)

o N

© 4 (D)

112.  Autonomous Investment is influenced by
(A)  The level of Income
(B)  The rate of interest
(C) Both (A) and (B)

\J” Neither (A) nor (B)

senenn_8 1pseS®H Spsear. cllen_saflé oG EMTHGIETaTE)
Q) aumeumis sarey

B) ey eldzn

© (A wpgi (B) s Gram@id

D) (A goaw vy (B) @aoeame
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113. The difference between GNP and GDP is equal to
. \/ Net factor income from abroad
(B) Gross foreign investment
(C)  Net foreign investment

(D) Net export

Spsa sappisefie GNP wppid GDP i@ @eLuie 2 eter Caumun(®) eTapéE sIons 2 _aeng)
(A) Qaeiprhsdmbs HosG0 Hay syenflgatien euheumL

(B) Qurés sweapr{H ERIC)

©) farswopn G wsde

(D) Hsygppiod

114. Investment Multiplier can be obtained from ————— (symbols have the usual meaning).

1 M 1

AR |_aC

AS AY
1 1

@ .. a8 ® —5e

1+— 1+—

AY

1 1
A) —xc (B) —iC
AS AY
1 1
(©) —xc D) —4C
AS AY
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115. What is the main assumptions that influences the output and employment in macro
economy? 25
(A) Labourin heterogeneous
y There is a closed laissez faire capitalist economy without foreign trade
(C)  Total output divided between investment gnd savings

(D)  Inflation with full employment

Gufiwe Quimermgmysde 2 DusS wHmb Caumeeauriiiemy Hlirerlsdlenn apsduorer ar@Camar
oTEy?

(A) ey uets setaio Gamer_g

B)  Swapm @ arefub Qoars sooull Qsrdarems Qe WLUUCL wpgerafiggie
Qur@ermgmy Qanerens

©) Qurgs 2 pusd wssH wHmb CablliyseE @ ufd udlipgefissiiu@dps
D) ueweSassg e Qameiri v Cauma Hlare

116. In the national income calculation, under production method, the entire output of final
goods and services is multiplied by

W Market prices
(B)

Factor cost
(C)  Both (A) and (B)
(D)  Neither (A) nor (B)

Coblu aumeumis semsdiige, 2 pussl weapuld @ GHAwrss Qod 2 pusd LeTRisar LOHmILD
uenflseT @seni_en Aar@ssiiu®pg

(A)  sheng efleva

(B) amyenfl Qewey

(€) (A wpmw (B) sf

D) (A sy (B) seugy
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117. The level of employment in capitalist economy depends on
(A) effective employment

(B) effective supply

y effective demand

(D)  all of the above

wsonafisge QurmensnsHa Caueme sumiLiblen serey Qs FmiHgieTeng
(A) eflenemeyerar GoueneveumiiLiLy
(B) dllenereyerer syaflly

(C) efenereysrar Caenau

(D) Cupamblu Semeanggn L

118. The Keynes theory of employment is called as
(A)  Principle of supply of money

M Principle of effective demand

(C)  Principle of demand for money

(D) None of the above

Eanflan Caumaaumiiy Cam_un® @eaurn mwpssiuGEng?
(A)  uewr seflly Qarerens

B) denerayerer Coameu QameTans

(C) uews Cameu Danatens

D) Cule saflu agabflaame
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119. ‘The General Theory of Employment, Interest and Money’' by Keynes was published in the

year of
\(/ 1936 (B) 1932
(©) 1930 (D) 1934

Sanavnd) erhe e ‘Caumeamiiy, ey wHHL UemTsien Qurg psgiand eran HIE

TPSLILILL &)
(A) 1936 (B) 1932
(C) 1930 (D) 1934

120. What is Cash Reserve Ratio?

(A)  The fraction of deposits that commercial banks lend to the customers
(B)  The fraction of the deposits that RBI must keep with commercial banks

\V The fraction of deposits that commercial banks must keep with RBI
(D)  The fraction of deposits by the public

Qyrés @muy Blsn ereanpmed erenen?

A) aefls uiidlser eumg saawnaris@séE ST auPRIGD meuliseflen uBHowa GhH&swn
(B)  eww ardure euafls curidlseEnL e mausdmEs Couarg i emeuliLseien G erand

©) amfls widser eww abduy e masdnss Coueiriuw MEULILY.LIMIG&6T

(D)  Qurg wsseflen wauiLsalian gm uGHaw @Hléeb

|

121. In Don Patinkin’s approach, what factor affects the demand and supply of goods?
(A) Normal prices (B) Upnormal prices
\V Relative prices (D) Real prices

e um_ig.endlen Cam_Lim_igé eThg snyesfl Lam_ksafler Cgeneu HHID Siafiieu unfladlpg

A @ueoydee (B) =ifs e
(C) Qsriiyenw eflenaw (D) zcamew alewaser
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122. Liquidity trap is unable to stimulate money economy because
(A) lowering interest rate

(B) increasing the money supply

W Both (A) and (B) correct
(D) None of the above

B genenn Qumdl (Siveg!) Aea-uews Qardarens QUIHETTSTIZMS SIRTL. (PR LTSS)
gQanafla ’

A)  Eops iy dsd
B) uwew saflly fsd
(€) (A) wpgud (B) &f

(D) Cule slwg seum

123. The supply of money is

\M A stock concept

(B) A flow concept
(C) Both stock and flow concept

(D) None of the above

uewt safluy eremug)

A) @muy Csm_ur®

(B) Gsweur @ Cariur® (dag) spnd Camum®
©) @muy Csmun® wppid spHE Cam_ur®

(D) Cup@srener cranauublana
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124. In which year, the Bank of England was given the monopoly status to issue paper currency?

A) 1984 - 7 1884

(C) 1784 (D) 1886

hs e Curis o @rdenss sréls uenb Qauefl@n appmflewenu Quhpg
(A) 1984 (B) 1884
(C) 1784 (D) 1886

125.  In which year the Central Bank of USA known as Federal Reserve system was established?

@) 1912 W 1013

(C) 1914 (D) 1915

<lQiflés pedlu presad eww amdbear Ques Quige fletes fAdvd <ig ahsTan®

QAgm_misiuc L g?
(A) 1912 (B) 1913
©) 1914 (D) 1915

126. In July 1969, how many banks were nationalized?
v/ 14 (B) 18

(C) o6 (D) 28

1969 & arggemen auriflser Cafwbwionsaiiug L ar?

A 14 (B) 18
(C) 06 (D) 28
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127. Which institution was set up as a wholly - owned subsidiary of the RBI in July 19647
(A) The Industrial Finance Corporation of India (IFCI)
(B) The Industrial Reconstruction Bank of India (IRBI)
(C) The Industrial Credit and Investment Corporation of India (ICICI)
M The Industrial Development Bank of India (IDBI)

1964 g9eaudie Meires curilufen ppemvinen genaw Hiyeienons Hmeutiu L fipeuend erg?
A) @pdurellen Asmplagenp B spsd (IFCI)

(B) . @pHwurelen Agmplogienn wné&remwiiy esd (IRBI)

©) @pdurehien AzmPldgim sien HNID PSS BE SPsD (ICICI)

D) @pdwur Asmlagemp eueriéd eurad (IDBI)

128. In which year, the amalgamation of the three Presidency Banks into imperial Bank was

done? .
(A) 1948 Ji( 1921
© 1935 D) 1947

GTibE T, e rsTe aukidlsaflen swmaiuTs @uiflweé eukidl Ggrrch,rﬂu.yg]?

(A) 1948 (B) 1921
(C) 1935 (D) 1947

129. In which year, the First United Nation Conference on Trade and Development (UNCTAD)
held in Geneva? '

(A) March-1954 (B) March—-1964
(C) March-1974 (D) March—-1984

wso psdu prosefien aunaflub wHD auarit## wrpr® (UNCTAD) Qgafieursies pLbps e ®
(A)  iomie-1954 G orii-1964
(C) omé—1974 (D) - wmié—1984
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130. If the government fixes, the foreign exchange rate below the normal market rate, it is

known as
\M Pegging down (B) Pegging up
(C) Clearing (D) Transfer

SITETRED sTgTa shens eflemase £Cpunar pHluE Qsaraeai el ;_f,lr’raﬁruSlﬁgné) 28
GTEUGUMY BieMP&EELILIHILD ’

(A)  Qusdn _eyen (B) Quadii o0
©) ey D)  ufwrHon

131.  “Free trade is the external trade system of liberalism which opposes every interference by
the state wit the free play of economic forces”. Who said this?

(A) R.G. Lipsey
Jagadish Bhagawathi

(B)
W Haberler

(D) J.M. Keynes

"applly aisssworeng, smraanssdear sienafiu a.m,sg& wpepule wrhlosdar Qurmertgmy
saglsaflen geuGeunm senauSen_uyb aflisfpg" wrmeLw sapn @s)

(A) R.G. AUGs

(B)  msdey usad

(C) . apuirer

(D) J.M. Qswsenav

132.  Which one is called Vehicle Currency?
(A) Yen (B) Dinar

(C) Rupee ; M Doller

aunsen Gynésid eTem Sienp&EsLIL[Heug) org?
(A) Quen (B) Hami
©)  mumi (D) wLreor
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133. The World Bank or International Bank for Reconstruction and Development (IBRD) was
established in the year

(A) 1942 1945
(C) 1960 (D) 1939

CTibS eI 2 @& Bl DWW sireuCsa gy Srewiy whmd Guobur @ auridl fimeuluc L g
(A) 1942 - (B) 1945
(C) 1960 (D) 1939

134. Hecksher Ohlin theory assumed that there are two countries, two commodities and
factors of production.

M Two (B) Three

(C) Four (D) One

Qapsavat — ganadler Cam ur® G prOser, G QUGBS LHYD —— sryenflEer erem
Sig@wrend Qsmergi.

Aa) Quan® (B) eparm

©C) preng . (D) qem

135. The first United Nations Conference of Trade and Development (UNCTAD) was held in the
' year

(A) 1954 : (B) 1962

\pf 1964 (D) 1974 ‘

apse aunanfiud b Gobur® Bgren géAwL pr@safan LIBTE eThs L@ [ LSS
(A) 1954 : (B) 1962
(C) 1964 (D) 1974
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136. The Purchasing Power Parity theory was popularised in year
1918 (B) 1928
(C) 1938 D) 1948

UG Hner Cam’_um_en Gyue UBSSLLLL e
(A) 1918 (B) 1928
(C) 1938 (D) 1948

137. The IMF gives loans for
(A)  Industrial Development
(B)  Agricultural Development

M Correcting the balance of payment
(D)  Infrastructural Development

uenenm® uenr Fduin (IMF) THENEG HLen Qan(Hadng)?
A  Gsmfle auaiialE s,

(B) efleusmu auaTiESlEs,

© feows samo Qup

D)  efleuBss

138. What is the Hypothesis of Marshall's theory?
Price theory
(B) Income theory
(C)  Production theory
(D)  Factors theory

wrirage Gam_umigen smsiCand ereren?
(A) efleva Cam_un@®

B)  eumeumis Gam_unm@

'(C) 2 pusd Cam_um®

D) smyenfl Can_unr®
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'139.  Who was the ‘Founder of modern demography’?

w@/ Malthus (B) Keynes

(C) Karl Max (D) Pigou

pelan wasa Agreasufume g bsemblLeui wini?
(A) wragen (B) &emav

(C) &miréd &6 (D) - Y9

140. Who is the father of Welfare Economics?
(A) J.M. Keynes (B) J.B.Say
y A.C. Pigou (D) Irving Fisher

poL) AUImETTSTTSSen Sheng WTT?
(A) Cg.erb. Semev B) Cg9.Gs

© g8 Y93 (D) @efli Gagi

141. Who used the concept of ‘Demonstration Effect’?

y Duesenberry (B) Irving Fisher
(C) Malthus (D) Schumpeter

‘Qeueiisan_Hb ellenarey’ aren &HSMS uweruBsSluweu?
A) LOweeamn (B) @efin Gagir

(C) omégev (D) &S

L 55 MAE/18
[Turn over




142.  The revolt against the Mercantilism was called

\M physiocracy

(B)
(©)
D)

mercantilism
modern physiocracy

modern mercantilism

auafisands@nses adyrer Lrld Haaulean Qevaury SiepssiiulLg

(A)
(B)
(©)
(D)

Qupenseungd
aueaflseungo

pelar @uipensaungid
pelen cuanflsaungid

143.  According to Gandhiji, birth control should be made through

(B)
(©)
(D)

Self control

Contraceptives
Abortion method

Operation

snpdlglullen sapmiiiug., @ser apeiorsGey Gpheos Uply sLEULESSULESH Caigm@id

(A)
(B)
(©)

(D)

MAE/18

WS sL_(Huun®
&S sy (1) omd
S(HE&MOLIL

Simeneu flflsans
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144. Favourable balance of Trade is

M An excess of exports over imports
(B) An excess of import over exports-

(C)  An exports and imports are equal

(D) Promotion of exports and restriction of imports

sngnswonen eunenflu swflene erenug) wrg?

A)  @nésoiow dlL ghpwd sdsors Gnmuug
B) gppwieow dl GnéELd Sidswns Qruug
(C) ghmwdHuyd @péEw b swors HHUUS

(D) egphpodeow easeuBsd QnéEGuawu G@puug

145. Laissez — faire policy means
(A) Opposed all forms of government restrictions
y Govt. should not intervention in the ordinary business life
(C) Freedom of business enterprise at home and free trade abroad
(D) The govt. reduce the involvement

seauiLrs Qardtens eTenLg)

A)  onfén s@mansg s_QUUTHEMET eTHTUILS

(B) seflwafls pumq.émauﬁda 278 gL gL

(©) areflu fpeuarised sspArons e s @ whpb Aeauaipm Qeweug
(D) =irs sl aL Gansg Qardeug

146. According to David Ricardo, pressure of population brings into cultivation of

\M inferior land (B) superior land
(C) additional land (D) barren land

CLeAL. M&&MGLT sapplLly, LEsE Agrasuden DiPSsD FTEUGEES Qarean(® eumeug?
(A)  smpps Hlew (B) 2 wips Hled
(C) &pze fleoon (D) sfl& Hewd
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147. Mercantilists believed
(A)  Prices should change based on demands supply

y Colonies exist to serve the mother country
(C) Individuals should do business as they please
(D)  Countries should import as many goods as possible

QUTEHE6UTE ST ————— midi Qe

(A)  Gpeneu opmd uiprise Slgtiuenuiléd eflena wrp Ceusir@id

(B)  sreafisar smi prgpE Crmes Qs 2 dreren

©) safipuiser ellgiby elssHe aiemianb Qv Casn@i

D) pr@sdr wpyhgeuey ue QUL semer BnéGd Qaiiw Cauar@Hib

148. Romans developed the use of ——— regarding commercial activity.

M Contract

(B) Supply and demand
(C) Economic forecasts
(D) Interpreting sunspots

Grmorefluiser auigss pLeugsms Qs iimg —— uweru (M.
(A)  @uubsd

B)  efliy whmo Caemeu

(©) Qurmemgry senfliiyser

D)  eiueaier llarasind

149.  According to —————, ‘Anticipated changes in money growth have very different effects
from unanticipated changes’

(A)  Philips \D/Robert Lucas
(C) Keynes (D) Schumpeter

‘wen euariédluier erdliiuniss wrHoRsET aflirumng wrnsdseile @mba LIMUL L cfametesmers
Qsnenmg.médlenpen — @euaunisenss @nse e

A) Qv (B) grum’ grame
(C) &enav (D) sbSCLw
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150. Growth of Indian Economy requires a high degree of ——— development.

Agricultural (B) Cultural resources
(C) Water resources (D) Forest resources
2 wit Sienellemen —————— parGanppG @bHu AurmeTTsTy auaTiéslse Coameu.
(A) Geuermemento (B) sme cuaTmisET
(C) B euammaser (D) euen cueTmIGET
151. The agriculture was ———— during the First Five Year Plan.

M backward and traditional
(B) forward and Modern
(C) upward and primitive

(D) downward and advancement

e misTE® HL sTasHd, @bHu slausmu ap —— BOLSS
(A) YGensudlu LHHD urpbuflwuwrs

B) eaCamsdu wHpb peianons

(C) CuwaGrradw whHb LpewITer

D) &p @oadu wppid aCadlugrs

152. In which system, the land revenue was collected from the farmers?
(A) the mahalwari system
(B) the ryotwari system
the zamindari system
(D) the royal system

aps HLL apenpanowdie, Hle eumeum feusmilsefl B HHE euGNas0ULLS?
(A) wsoeurfl aparp
®B)  qupeurl gpep
(©) mbengrfl erm
(D) prgeubs pern
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153. A ————— sets target to cover all major aspects of the economy.

W Comprehensive plan (B) Partial plan
(C)  Whole plan (D) Bilateral plan

Qurmertgmysflen imanss) SDERSEHD 2 Gon_risssmgL @Qosdoar Hiamudss QameTeusg

BGLO.
(A ureud HLb (apepeno) (B) usdHLw
©) @uyew b D) @msriurer AL ib

154. What is the another name of financial planning?
(A) Adopting
(B) Centralising
(C) Avoiding

W Budgeting

B S B_fer INQAgmm Quwit erean?
(A) oslardreug

B)  evwuLLEssCE

©) geflimiug

D) euyey-Qsaey S ib gunfliiug

155. Failure of crops results in

\V Food shortage

(B)  Input shortage
(C)  Financial shortage
(D)  Capital shortage

uuirseflen eflenerisd Genpeug ———5@ snyeordpg)
(A) e avey UDDTEEG®DES
B) . edmefp upprésmpss
- O P uppréeepie
D)  wposa upprEG@DEE
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156.

157.

- 158.

If planning is done by Central authority, then it is called
(A) Decentralised planning
(B) Physical planning
Centralised planning
(D) Financial planning

wsHL sdeg ishow Hsrisare AL fLe peL Guporuer,  Sigmen
S blLed erem SiapssLLB DS

(A) ureTESUIULL S 18led

(B) umw Hble

(©)  ewvwiu@ssuuLL LBl

D) HHH Ll

The people’s plan was based on ——— socialism.
(A) _ Leninist _ (B) Nehuruvian
Marxist (D) Gandhian

Wé&ET L nang ——SSTOHDS SligLiLenLps Qsrerrgl.
(A) Qeaflefler (B) Crmedlen
(C) iomidedlen (D) srpHulen

One of the objectives of Annual plan is

(A) to remove strains from expected events

(B) to remove strains from current events
M to remove strains from unforseen events

(D) to remove strains from past events

grnan®s S sHan Gprésnsafle genm

(A)  adiunigs fapeysafic o drer seLsmar Bé@eug)
(B) spCuresw Hapasai o arar ganL_s@e HéGug)
(C) ediumng Hapaysafic o emar gaLsmar hé&Geaug
D) sLpssTe Hlapeysaficr 2_etar senL_samer BaE@eug
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159.  Priority to agriculture and rural development is the main objectives of

plan.
(A) Sixth (B) Seventh
(C)  Eighth P Ninth

Ceuammaimens wpmb  Hymo aeriéflag eargifiown ey — i srwgden

Cprésioneb.
(A) ey (B)  gypreug
(C) GTLLTeugy (D) RENLIFTEUS

160. When an employer refuses to give employment because of shortage of power,
non-availability of raw materials, the breakdown of machinery, natural calamity, it is called

(A)  Retrenchment Lay-off
(C)  Strike (D) Lock-out

80 epsanefl Warsmrb upprE®, apels QurmLser LppréEGmD, Qupdyaser apfley, Bupens

Cunfley e dwuaupprd Ceaiema 87 Queeildeme erempra, EIG erenm Guwi
(A) LGy (B) Ce eyl
©) Cawefigssn D) oré-ey

161.  Which of the following initiative was launched in September 2014 by Government of India?
(A)  Solar Chakra Mission

(B) Software Technology Park Scheme

W Make in India

(D) Start up India

Slemeumeueneupmier @)hHw SArEESHTD Asliibur 2014 b gyaimgd Asm_msiul L qper
QPwpé erg?

A)  eflussyr Hagen

(B)  Quen@unmer an;ﬂd)gmu s S b

€) Cuwé@er @pHwn

D)  evLmi o @i
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162.

163.

164.

How many major ports are located in Tamilnadu?

A 1 (B) 2

© 17 \9/3

sUPHET 1.6 arggaen QU gippsmiseT 2 creren?
A 1 B) 2
© 7 (D) 3

Cottage Industries Board was set up in

(A) 1945 (B) 1946

y 1947 (D) 1949

Ggmss Agmfla aurflub semwssiul L HarH

(A) 1945 (B) 1946
(C) 1947 (D) 1949
EXIM Bank was sétup in

(A) 1962 (B) 1972

,p( 1982 (D) 1992

ghpod-@péEns e fpauiucL a6
(A) 1962 (B) 1972
(C) 1982 (D) 1992
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165. Which of the following considered the conciliation machinery for settlement of industrial
disputes?

\M Courts of Inquiry

Labour Court
(C) " Industrial Tribunal
(D) National Tribunal

Gemaumeuaraundler Asmflegienn sarmmsamar Eirey sremr swrsILESEIDL @wbSyd erg?
(A)  eflsmyenemr F&wenprismer

(B)  Qzmflerart fHwermin

©) QGsnflpsrenms@sssnen EHwennid

D) Cséw e

166. The basic determinant of economic development in any underdeveloped country is

\V Infrastructure (B) Agriculture
(C) Sericulture (D) 'I‘ranspo-rt '

GMDHs euariélyenw prpsefen Aurmerngmy aGapPSANE iU sTyefluner @ mliug
4) slLewvluyser (B) Ceuarremrenio

©) ulPeuemiiiy D) Curégeurss

167. The history of Sugar Industry in India begins in

M 1903 ®) 1930

1935 (D) 1960

Qpdureile sissmy ool urony Agm_midw 2467 (H
(A) 1903 (B) 1930
(C) 1935 (D) 1960

MAE/18 64 - *




168.

169.

170.

Micro Finance Programme was set up in India in

M 2003-2004 (B) 2005-2006

2006-2007 (D) 2007-2008
@pdwrede memefiu HHSH LD rbdssiuL amd

(A) 2003-2004 (B) 2005-2006
(C) 2006-2007 (D) 2007-2008

In which of the following location, TIDCO Aeropark is established?

M Sriperumbudur

(B) Cuddalore
(C) Ambattur
(D)  Guindy :

Spsrgnd @ @LEHD gL Car gCym yhisr Hipeuiuc Gerarg?
Aa)  BHAuwmdLgT

(B) s gt
(C) busggnm
(D) Aerg

When did Foreign Exchange Management. Act came into force?
(A) June 1, 1993 (B) dJune 1, 1991
() June 1, 1973 | Muna 1, 2000

ap'i;ﬂtu Qsareuei Gueramei s LD ariCUNg o@I&HE ubsS!?
(A) ggeenl, 1993 - B) grenl,1991
(C). grenl, 1973 D) ggoan 1,2000

2
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171.  Rank correlation coefficient method was found out by

M Charles Edward Spearman
(B) Karl Pearson

(C) Taro Yantane
(D)  Ya-Lun-Chow

sreuflens 2 Len Agminé QsqpeSlenar sawr_hlpseu
(A)  smieen erleui(® duiwiGioe

(B) amieér Qwrsen

(C) anqn wimSefl

D)  wr-gyen-Qaer

172. A diagramisa —— form of presentation of statistical data.

(A) hide

(B)  blurred
&7 visual

(D)  invisible

SO UL Lorang), Lerafl eflaurisener ——— auig efiléh pereaflmSgiasnELw.
A  wepps

(B) wiserer

(©)  snrQemrmefl (=) smA

D) sargmés) yoarsns

173. Collectiop of Data can be divided into ——— types.
(A) one \M two

(©) three (D) four
yereflefiuy GesfliiGen cuenssar .
A) gy (B) Qe
©  epen (D) pra
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174. Statistics is indispensable to

M planning

©)

controlling

yerefluflwe) ————— &@ Gendluemwownss).

(A)
(©)

HLLHPsR6@
LI CIWIRICY: 7 TRl Ul

(B)
(D)

(B)
D)

monitoring

governing

samsTetILSHE
2 EMDES

175. Which method is useful to find correlation between two variables?

a)

Positive correlation

\W Coefficient of concurrent deviation

©
D)

Negative correlation
Coefficient of determination

@re(® wrhledsEsse Qe Cuwrer 2 Ler Agmidamen bl GT‘I,'5§. e LwearBssUUOEDS?

(A)
(B)

©
D)

CpflenL o.Len @gm_ity
o L aflsp eflewsss Qs
afflen o Lem Qgmity

Sirwonens Qs

176. Statistics does not analyse
W single man or single unit

(B) the societies culture

(C) the mathematics

(D) the historical events

yerefuwiéd ———— uph ey Qalwng).
A) pef wallgen Sidwg selQUNm VG
(B) spasden seonsamyd

(C) sefigeiwe

(D) aperhn Hapeyser
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177.  The gggression lines cut each other at the point of
\/ average of X and Y

(B) average of X only
(C) average of Y only
(D) the medianof X and Y

wrhlseflen Agm_iys Can@sedr ganemp6wrenm Qe G yeraflwumeng
(A) X uwppw Y e syraf

(B) X ansgmafl w_Hid

(C) Y enaynafl w_ @b

D) X uwpmd Y e wsdu siareildn

178. The number of questions in questionnaire should be
(A 5 (B) 20
minimum (D) maximum

elams@sr@Hulg)erer eflenmésefien eramanflsens Bm&s Couanmg. i iamay
A 5 B) 20
©) ©GonpsuLsb (D) aflsulsn

179.  Where r is zero and the regression lines are at right angles, if the variables are

(A) exact
(B) dependent
independent

(D) not exact

r yRwwrsed, wrilsefldr gy Gan® AsmCsramonsed Bmiug, wrlser ereuaumbmE@n
Cun@gempmed

A) geodwors

(B)  snipdlmEEnCLTE
©) smdmagnCung
D) goSwibend
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180. Quasi Random sampling is also known as

MSystematic sampling

(B) Stratified sampling
(C) Cluster sampling

(P) Judgement sampling

LGS eumiiii wrHfl erenug GUigud flutu@dps
@) ewhe wrHf gpop

B) u@®s wrdfl wpen

(C)  Hyer wrHM wpenp

(D) Sy wrdfl gpep

181. Chance sampling is otherwise known as

(A) Non-probability sampling

P Random sampling

(C) Purposive sampling

(D) Judgement sampling

aumiy wrfwréso —————auq)g)é&uu@ﬂg)@.
A)  swens flapsse

B)  eumisiy wrdfl

(C) Cprasqparer wrdil

(D)  Sioy wrdfl
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182.  An investment ceiling of ¥ 25 lakh on plant and machinery of manufacturing enterprises is

classified as the following under the Micro, Small and Medium Enterprises Act, 2006
(A)  Medium Enterprises

(B)  Small Enterprises

W Micro Enterprises '

(D) Macro Enterprises

2000 guib gyaimgen o, Sy LOMID BHSST jﬂ@ménﬁmaﬂér UL Slan 8 25 el s mumi s @
2 #5 auUbuING Q&ndm_'ﬁm;mmg’smg eTeucUME QUMSILRSSLILIL [HeTerean?

(A)  pOssT fpeueriss (Medium)

(B) Afw Foyeueniuser (Small)

©C) men Bneueniser(Micro)

D)  umellemd Poeuariser (Macro)

183. Milton Friedman divided a consumer’s income into
,M Permanent income and transitory income
(B) - Demand and Supply
(C) Cost and Profit
(D)  Income and Expenditure

Wled"s e G omenr misiGourfien SU(HLOTENSanS . — era GfsHpm.
A)  Heewrer wpmb QeuefiiLemwrar QU(MHLOTENTLD

B)  Gpeas b ey

©) e whmb Gerun

D)  aumwrens wHyb Aseey
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184.

185.

186.

How many countries are not members of the World Bank?

A) 19 (B) 10

© 15 ‘ y 5

aggmen s e.ws autduid o plidanisems Gaoamen?
@ 19 (B) 10
© 15 ' D) 5

International Development Association (IDA) was established in the year

(A) 1940 (B) 1950

\@/ 1960 (D) 1970

uenenm_( eueriréd swatd (IDA) Camppielsaiui’ L yew®
(A) 1940 (B) 1950
(C) 1960 (D) 1970

When was Fiscal Reforms and Budget Management Act enacted?
(A) 1991 (B) 2000

\(9/ 2003 D) 2001

A Eifmssnse wpmib UL AR Coardremn sL1b GuppULCL gl eriGuimgy?
(A) 1991 (B) 2000
(C) 2003 (D) 2001
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187.  Which of the following is not a determinant of money supply?

(A)

The required Reserve Ratio

¥ Bills of Exchange

(©
(D)

The level of Bank Reserves
Public’s desire to hold currency and Deposits

, Qarpasuu’ Dererencusafieh ey Ligw aflueu Sioreflégn Siorafl side

(A)
(B)
(©)
(D)

Caenau @iy efldlgid
LOTHD 2 eRTig LIVEET

cuid) @y Siarey

Qurg) was6T LeMons LHHIL MaItiLTs curkidulé s maEEn G muyser

188.  Which of the following one is not a near money?

(A)
(B)
©

Bonds

Bills of exchange
Treasury bills v
Electricity bill

£Cy QasrPsstiuc Gerareeusaicr ey SimHaETeL LIGTD O

(&)
B)
(©)
D)

usyiuser | uni@ser
LOMDI 2 ERTig \LIVSET
smape LusHyrsear
Wlengmy &L emtmiser

189.  Fisher's quantity theory of money fails to measure

(A)  The purchasing power of money
(B) _ Cash transaction
Value of money
(D)  Value of goods and services
Gsflen Lewr syarey Camiun® ® Sjerell geuglell L g.
(A)  uemsdlen cumti@id ﬂma’n
(B)  uew pLeugsMEsET
©C) uvewmsHen wdiy
D)  uem_fser whmb Lelisefien AL
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190.

191.

192.

If two attributes A and B are independent, then

A)
(B)

Actual frequency = Expected frequency
Actual frequency > Expected frequency -

M Actual frequency = Expected frequency

(D)

Actual frequency < Expected frequency

@rein(® uemysar ‘A’ wpmid ‘B’ sspyons B méEEwaild SLEuTEpg

(A)
(B)
©)
(D)

o GmeniowineT sie@@euer # BT iene6leues
2 amenowLITeT Si@a@eudr > eFiLmiiiy Sienebleuemt
2 @menWNeT SeaPeuet = Ly Siemebeuer

o aGmenwnen Sien@@euert < erdliLmiiiL| Sienebeuer

H,:P, - P, <0 versus H,: P, - P, >0; is often called as

(A) One tailed test
Upper tailed test
(C) Two tailed test
(D) Lower tailed test
H,:P,-P,<0 afiyns H, : P, - P, >0 — capassUEDS.
A)  emumer Gergemen
(B) Guwa apenen Gamgener
C) @myemer Cargemen
D) &P peamen Gemgenan

In Cpbb-Douglas production function @ = AK*L'” share of labour in the total production is

B ®B) 1-8
©Cc A (D) d,L
srl-Léatey 2 pusSH smiy @=A Wé Qurss e pusdule eeplber LRETS
QIGEEET
@A 2B B 1-48
© A D) dL
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193. The concept of permanent income inherently involves
(A)  Unexpected income

(B) Real income

(C) Nominal income

W( Expected income

BITBST cumOrenD erenm &S Quenns Qg m_iy Qanenr_g)
(A)  adiiuriésns eumorend

(B) o awenwo augmomad

©) @ueéy aumorend

D)  afiunigs eumomrend

194. Resources used for the production of products are known as

\/ Factors of production

Production function
(€)  Process of production .

(D)  Techniques of production

vam_mismar swmflés LweTLESSLLELD eueThis6T STeu DM &S LILI[H ).

Q) epusd smrefser
B)  2pusd smiy

©  2pusd aflaperp
D), 2pusd o shaar
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195. Identify the statement which is not related to the prospects of Indian agriculture
(A) Basics of Indian Economy |

(B) Provide More employment

M Using advanced technology

(D)  Support to the growth of Industries

Qsr@asiiu’_@Hérer aursdubisaido @pHu Geuermamenoudien ApuiwalhE QurmHbsTs qeaTan
Qgfley Gauw :

(A)  @pdu Qurmensrysden sigLiuemL g Ggmle

B) =flsCaeme aumuienu upRIGEDS

©) gpaGappebs Asme HUs®S LLTLGSSADS!

D) Gsmfpgien uarisdlsE 2 gaiding

196. Which of the following is needed to guarantee full employment in the classical economic

system? !

V Wage-price flexibility

(B) Government interference

(C) Imperfect knowledge in market

(D) Existence of short-run

@grenenio AUTEBETTSTT (PDUID, AP(P GouemeamiliLég e sdraunsd safliug) ag?
(A)  sm&E0 dawsEn o drer Apdpey

B) ersmis sameuil

(©)  speng upH HleopEmd Sidley

D) Epdu srawns @mssD
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197. ————————is the net flow of dollars into the country due to sales of goods abroad.
(A) Cash balance

\V Trade balance

(C) Income balance

(D) Total balance

Qasafipm ud popr @ uar ks pueandanmd BO Briyh@er eumb Blar Lrer wdiy
@eueumprs sapuuBEng

(A) Qorés ansull(mLy >

B) wisss esulmiy

©)  eumeumi evaufigmriy

D) Qurss waudlmiiy

198. Keynesian aggregate supply curve is
(A) Vertical
Flat

(B) ' 8
(/ Horizontal

(D) Circular

Eanallen @l HQwEs sefliiyé Gam_ig e euigeuld DGLD.
(A)  Qsigssrens

B) sl wreng

C)  u@sens Cam_meng

D) el wreang
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199. Karl Marx was the founder of

\M Scientific socialism

Utopian socialism
(C) Philosophical socialism

(D) Neutral socialism

@) sen Hlmeuentt &6 LOTTEE) HeuMT
A) efeflwenmbs supgmuD

B) sTsHwLHD EHLMEN FAPSTWID
(C) sHEUTTSSLTEN FUPFTLID

(D) swblae sepsTUD

200. Globalisation is significance for conducting ——— policy.

(A)  Micro economic

(C) Mixed economic

(D) Fiscal economic

@)sen Qsrarasudiaan aufl BLSSIUSDEGE 2 WELIILDTESD SauSLLDTET REMDTELD.

(A meweflar QummenTSTy
(B) Cufes QummeTTgmy

(C)  seuy QuraTTSry
(D) A& QumerTsTy
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requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet. :

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles @ .®), © and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, ® is the correct answer, you have to mark as follows :

O} _NON®)

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take

this Question Booklet and the Answer Sheet out of the Examination Hall during the time o

examination. After the examination i lude and over vo e :
nvigilate 1 are allowed to take he Question i | A 10Dn afte he Kxamina 1S OVE

Do not make any marking in the question booklet except in the sheet before the last page of

the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided

at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of

answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.

nviguato 0

on Bookle 1th vo arte NE amination

¢




